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I.CHOOSE THE CORRECT OPTION:-

1. Life expectancy at birth denotes:

(a) Expected age of an individual

(b) Average expected length of healthy life

(c) Average expected length of life

(d) The difference of life span between a newly born boy and a girl child

2. Why does Kerala have a low Infant Mortality Rate?

A. Pollution Free environment

B. Suitable climate

C. adequate provision of basic health and educational facilities
D. It has adequate infrastructure

3. Pick out the correct meaning listed below to define ‘average income’.

(a) Average income of the country means the total income of the country.

(b) The average income in a country is the income of only employed people.

(c) The average income is the total income of the country divided by its total population.
(d) The average income includes the value of property held.

4. What will be the top priority in the developmental goal of a landless labourer?
(a) Expansion of rural banking

(b) More days of work and better wages

(c) Metal roads for transportation

(d) Establishment of a high school

5. What would be the most promising source of energy fifty years from now and why?
(a) Petroleum energy, because it is obtained from fossil fuels.

(b) Solar energy, because it is not exhaustible.

(c) Coal based energy, because it is pollution- free.

(d) Forest product-based energy, because India has abundant forests.

6. Which of the following countries has higher HDI rank than India?
(a) Sri Lanka (b) Nepal (c) Bangladesh (d) Pakistan

7. The developmental goal for a girl from a rich family is:
(a) to get more days of work (b) to get as much freedom as her brother gets
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(c) to get electricity (d) to get better wages

8. Which one of the following statements defines “Literacy Rate”?

(a) Total literate population divided by total population.

(b) Total literate population divided by total illiterate population.

(c) Proportion of literate population in the 18 and above age group.

(d) It measures the proportion of literate population in the 7 years and above age group.

9. How would you calculate Body Mass Index?

(a) Dividing the weight in Kg by the square of the height
(b) Dividing the height by weight

(c) Dividing the weight by height

(d) Adding height to the weight of the person

10. Assume there are four families in a country. The average per capita income of these families is
Rs. 5000. If the income of three families is Rs. 4000, Rs. 7000 and RS. 3000 respectively. what is the
income of the fourth family?

(a) Rs 7500 (b) Rs 3000 (c) Rs 2000 (d) Rs 6000

II.FILL IN THE BLANK
1. The number of deaths of children less than one year of age per 1000 live births is referred as

Ans. Infant Mortality Rate

2. Human Development Report is published by
Ans. UNDP

3. Different persons could have notions of a country’s development.
Ans. different as well as conflicting

4. The average income is also called
Ans. Per capita income.

5. The development that meets the needs of the present without compromising the needs of the
future generation is known as
Ans. Sustainable development

6. Countries with higher income are than others with less income.
Ans. More developed

Ill. WRITE TRUE / FALSE

1. Per Capita Income is calculated in Pounds for all countries.
Ans. False

2. Nearly one-third of the country is overusing their groundwater reserves.
Ans. True

3. GDP is the total money value of all intermediate goods and services produced during a particular
year.
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Ans. False

4. Development of a country can generally be determined by its average literacy level.
Ans. False

5. Human Development Index compares countries based on Educational level, Health status and
Per capita Income.
Ans. True

IV. ASSERTION AND REASON
In the question given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:

1. Assertion (A): A country that was extremely rich in natural resources has mainly relied on oil
extraction for revenue generation for several centuries. However, the scientists predict that the
country may become poor in the future if other means of generating income are not devised.
Reason (R): Oil is a non-renewable resource, and it is likely to get exhausted if not used judiciously.
Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Ais true but R is false.

D. Ais false but R is true.

2. Assertion (A): A high average income is not an indicative of the over all well-being or human
development in a country.

Reason (R): Average income does not cover indicators like level of literacy rate, health facilities
and public facilities in a country.

Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Ais true but R is false.

D. Ais false but R is true.

3. Assertion (A): Non-renewable resources are abundant in nature.

Reason (R): Non-renewable resources are those which will get exhausted after years of use.
Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A.

C. Ais true but R is false.

D. Ais false but R is true.
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